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Choose the correct answer from a, b, cor d:
Q there any cheese?
a)ls b) Does ) Are d) Do
@) She keeps money inher ... .
a) prune b) prize C) purse d) price
€) Lailadoesn'tlike ... .1t's hot.
a) hot sauce b) cheese ¢) salt d) carrot
) They .o at the restaurant yesterday.
a) was b) are c)am d) were
@ Mymother ... brown bread.
a) bakes b) grows C) cries d) does
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@ 785kg 0.8 ton

a) > b) < Q)= d) >
@) 4819100 =

a)481.9 b) 48.19 c)4.819 d) 0.4819
9 8 237 millilitres = - litres.

a) 8.237 b) 8 237 c) 823.7 d) 82.37
0 If the polygon ABCD = the polygon XYZL, then AC = -

a) XZ b) XY ) XL d)YZ

6 82051 - 31981 approximated to the nearest thousand is -
a) 5 thousands b) 50 hundreds ¢) 5 millions d) 50 thousands

0 The number of lines of symmetry of the rhombus is -

a) 1 b) 2 )3 d) zero
0 50 days = - (to the nearest week)
a)7 b) 8.5 75 d)8

Choose the correct answer:

o The animal cell is surrounded by .

a) plasma membrane b) cell wall
) cytoplasm d) (a) and (c)
9 ~~~~~~~~~~~~~~~~~~~~~~~~~~ is responsible for cell division.
a) Cell wall b) Nucleus c) Cytoplasm d) Chloroplasts

9 From the examples of decomposers is - .
a) rabbit b) plant ¢) bacteria d) rabbit
@) Chloroplasts are found in - :

a) producers b) consumers ¢) decomposers d) (a) and (b)
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Choose the correct answer froma, b, cord:

Erm . Let’s have a snack.
a) happy b) late ¢) hungry d) good
@) Maybeit's hers. Let’s ... :
a) thank b) ask c) take d) want
€ isthere . salt?
a) and b) any C) many d) some
Ol at the bookshop.
a) wasn't b) were c) weren't d) isn't
@) Thereare ..o pickles.
a) an b) a c)an d) some
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Choose the correct answer:

0 The unit of measuring capacity is -

a) litre b) kg c) ton d) hour
9 The equilateral triangle has - line(s) of symmetry.

a)o b) 1 o3 d) 4
Q 657% o — (to the nearest unit)

a) 657 b) 658 c) 655 d) 659
0 35 % R — (to the nearest unit)

a) 34 b) 40 c) 35 d) 36
6 In the rectangle, the diagonal divides it into two - triangles.

a) congruent b) different ¢) equilateral d) isosceles
@ 1 hour = seconds.

a) 24 b) 1440 c) 3600 d) 60
0 7 500 kg = tons.

a)7.5 b) 7.35 Q75 d) 7.05
o The is an example of unicellular organisms.

a) yeast fungus b) horse ) bean plant d) frog
9 A group of similar cells forms a/an - .

a) system b) organ c) tissue d) body
9 The color of starch changes into - by using iodine solution.

a) yellow b) green c) red d) blue

o Plants make their food through the photosynthesis process in the presence of sunlight, water

a) carbon dioxide b) oxygen C) nitrogen

d) sugar
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Choose the correct answer froma, b, cord:

Q was at the bakery.
a) They b) She c) We d) You
@) Don't drop litter. Use the ... :
a) bin b) pen ¢) ball d) pin
€ Whata ..o !
a) miss b) maths C) mass d) mess
@) 'mhungry. Let's gotoa ..o .
a) hospital b) museum C) restaurant d) cinema
Q AMr . at the hospital yesterday.
a) weren't b) isn't c) wasn't d) aren't
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Choose the correct answer:

0 % ROUFS - % hours.

a) < b) = c) > d) otherwise
Q 9079 =9 000 (to the nearest - )

a)10 000 b) 1 000 c) 100 d) 10
€) 60000485 =

a) 599 b) 600 ¢) 6000 d) 59951.5
Q The isosceles trapezium has - line(s) of symmetry.

a)2 b)0 a3 d)1
6 3 itres = oo dm3.

a) 30 b) 300 a3 d) 3000
6 % of a kilogram and 375 grams = - grams.

a) 625 b) 400 c) 380 d) 250.25

9 ’ ‘D] ‘D ----------------------- (in the same pattern)
b)| | q /\ d()

Choose the correct answer:

o The living organisms that help in getting rid of dead bodies are - .

a) producers b) consumers c) decomposers d) All the previous

answers

9 Green leaves change into yellow due to the - .

a) absence of oxygen gas b) absence of nitrogen gas
¢) absence of sunlight d) (b) and (c)
9 ---------------------- controls the substances that enter or leave the cell.
a) Cytoplasm b) Plasma membrane c) Nucleus d) Cell wall

o Yeast fungus is used in making - .
a) bread b) oil c) alcohol d) (a) and (c)
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